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1. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
2. Complete the sentence using a conditional: If she harder, she might have passed the

exam.(study / studied / had studied)

Answer: had studied

3. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

4. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

5. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

6. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
7. Complete the sentence using a conditional: If she harder, she might have passed the

exam.(study / studied / had studied)

Answer: had studied

8. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

9. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

10. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

11. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
12. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

13. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

14. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

15. Rewrite in reported speech: She said, 'l have been working all day.'
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Answer: She said (that) she had been working all day.

16. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
17. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

18. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

19. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

20. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

21. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
22. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

23. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

24. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

25. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

26. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
27. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

28. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

29. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing
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30. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

31. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
32. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

33. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

34. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

35. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

36. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
37. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

38. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

39. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

40. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

41. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
42. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

43. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

44. Choose the correct form: He denied the documents. (to steal / stealing / steal)
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Answer: stealing

45, Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

46. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
47. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

48. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

49. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

50. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

51. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
52. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

53. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

54. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

55. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

56. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
57. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

58. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation
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59. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

60. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

61. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
62. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

63. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

64. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

65. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

66. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
67. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

68. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

69. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

70. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

71. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
72. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

73. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?
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Answer: Inflation

74. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

75. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

76. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
77. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

78. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

79. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

80. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

81. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
82. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

83. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

84. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

85. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

86. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
87. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

—MELAL LANGUAGE INSTITUTE———



88. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

89. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

90. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

91. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
92. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

93. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

94. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

95. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

96. Choose the correct word: The committee, as well as the chairman, arriving soon. (is / are)
Answer: is
97. Complete the sentence using a conditional: If she harder, she might have passed the

exam. (study / studied / had studied)

Answer: had studied

98. Reading comprehension: The economic report suggests a slowdown in growth due to inflation.
What is the main reason for the slowdown?

Answer: Inflation

99. Choose the correct form: He denied the documents. (to steal / stealing / steal)

Answer: stealing

100. Rewrite in reported speech: She said, 'l have been working all day.'

Answer: She said (that) she had been working all day.

—MELAL LANGUAGE INSTITUTE———


iMAC
Sticky Note
ملل، تنها مرکز آموزش کلیه زبان ها در ایران
melalinstitute.com


